


.

). 

 



1.1.

1.2. 4

2.1.

2.2.

3.1.

3.2.

4.1.

4.2.

4.3.

4.4.

4.4.1.

4.4.2.

4.4.3.  

4.4.4.

4.4.5.

64



 

w nTA nTW

w

 



1.  
 

 
 

 (551)
 

(512) (533) (513) 3)

2.  
 

 
 

 

1) 2)
1) 64 3) 64 3)

3.  
 

 
 
 

 

1)

 

2)

4. 

 

(451) (452)

1 
w 

2
nTA

3
w

.

4



 

1) 2) (533) (513) (513)

 
 

(451) (432)

1) (512)

1 
w 

2
nTA

3
w

.



1. 

 

1) 2) 3) 3) 3)

2. 

 

 
 

1)
2)

3. 
1) (512)

1 
w 

2
nTA

3
w

.

6



1.   (551) (512) (533) (513) 3)

2. 
1)

2) 3)
3) 3)

3. 
(533) (513) (513)

4. 

 

1)
2)

5. 
1) (512)

1 
w 

2
nTA

3
w

.



nw

1.  

2. 

3. 

 
.



nw

 
 

4 4 (41) 4 (41)

(43)
(45) (45)

4

 
.


